Evaluate the following definite integrals:

1. (@)

(iii)

(v)

o

(vit)

2. (@)

[ &

(iii) J

(v)

o

(vii)

(ix)

o1t/2

1 9y

dx
2 41

0 x

o4 x

2 x2+1

.2
X 1/2 + x dx
0
.1
5x4\/x5 + 1 dx

dx

J-1

2 dx
1 x(1+ log x)*
~7/6

cos™3 20 sin 20 dO
0

sin x

0 1+coszx

dx

2 6x + 3
Jo x% +4

dx

5 (_1_ . _1_)ezx dx

1 \x  2x?

-—

o

(iv) (x2 + e*)(x3 + 3e* + 4) dx
J1

A x

e -1 (x2 + 1)2

dx

[ &

P o n/4 3
e (uiii)_[ sin? 2t cos 2t dt
‘ 0

.« ™2 cosec x cot x
(i)

n/6 1+ cosec2 x

o1 ex

0 1+ e2%
ot/3

dx

(iv) dx

sec x tan x

0 1+ sec? x

rl 9+ 3
0 5x% +1

9 \/;

4 (30_x3/2)2 |

(vi) dx

[ 3

(viit)

(x)

[ &

Scanned with CamScanner



3.

(@)

(ui7)

o

2

dx

1 \/x2

(v)

(vit)

4.

@)

(i

6.

'(nlz)lfa

Y0
2

0 x
~TC/2

J0

o1t/ 4

i)
Jo

o4

(v)
Jo

@ ),

ot/ 2

(iit)

(v)

(¥)

J0

(iii)

(v)

(i) x

(v)

*l tan~
2
Jo 1+x

0
oTt/2

@ | x

+4x + 3

1
X
dx

x2 sin x° dx

1 &

+4— x>

_ B9 e
1/1+ cos O

dx
9+ 16 cos? x

dx

\/xz +2x+3

dx s
5+4cosx
dx
1-2sin x
dx
5+ 3cosx

dx
5+ 2 cos x

dx

0
o10/2

-t/2

s (i)

2cosx+4sinx

dx

4+9c052x

J0
ot/ 4

J0
el 15-x2

dx
1+.7c2

J0

-Tt/2 3 .
sin 3x dx

0
el 11—«
Jo V1+x

2 d

dx

(@)

X
Jx2 -1

sin~! J; dx

L &

1 (x+1)
1

Gii) |

0

. a1/2
(i1)
J0

oTt/2

1/cos 0 sin® 0 do

cos x dx

(tv)

/4

°1
() | s
o1
(viii)
J-1

1
(iz)
Jo

(iv)
Jo

(vi)
Jo

(iv)

o 2T

oT0/2

J0
-1t/2

(cos (x/2) + sin (x/2))2

in! x dx

2 : dx
x“+2x+5

\/tan—l 3; dx

1+x2

4
4

]
x
—dx

a2 —-x2

dx
5+4sin x -
dx
3+2cosx

dx

0
o1C/2

(vi) _—
Jo 2+ cosx

(i2)

(iv)

(vi) 5
(i)
(tv)

0

(vi)

dx

e*/? sin (E +%J dx

/2
J.o -4cosx+2sin x
ot/ 4 dx

1+ cos?

X

dx

Jo'
o1t/ 4

0 a°sin

en/2 COS X

2 x + b2 cos

2 x

Jo
4 dx
1+J§

11— 42

0 (1+x2)>

o270 5
(i7) cos® x dx

dx

0

e
a—-x
dx
at+x

(iv)

J-a

(2 + sin x) (1 + sin x)

Scanned with CamScanner



VERY SHORT ANSWER TYPE QUESTIONS

Evaluate the foll()W1ng definite integrals
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